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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 5th Semester Examination, 2021-22

ECOACORI12T-EcoNnoMmics (CC12)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfes I 0E KNG Q"Y/VW fact FC 1
Candidates should answer in their own words AR e ©IR0F I ST XA N
and adhere to the word limit as practicable. e FEE |

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fafeiie @-ieal #fipfs elvas Ted wiss

(a) Distinguish between sustainable development and participatory development.
(GFHE, TR '@ SRHZOETP ST AL (& |

(b) Distinguish between absolute poverty and relative poverty.
QTR 6 B RIfHCHd #M1<fw gl e

(c) What is Gini coefficient?
& e 7290 I 0T 2

(d) What is head count ratio?
TR Yo ST FIF 0 2

(e) What is low level equilibrium trap?
@R SRR T FIE A 9

(f) What are the limitations of Human Development Index?

TR Tz oA FAael 6 9

(g) What do you mean by Bretton Wood System?
‘&5 BT PIEEY Twce 6 (@Iean ¢

(h) What is human poverty index?

TR @) Ao I 0T 9

2. Answer any four questions from the following: 5x4 =20
fasfeiie @-cpiea 516 eivss T mies
(a) Explain the concept of inclusive development.
SEG T G AIFell I Al |
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(b) “Per capita income may be used as starting point for classifying levels of
development” — Explain the statement.

TR WA @NRICR (e NLAfg SR a3 353 AR 91l F11 @cs M —
92 IS0 T T

(c) Discuss different obstructions to development.
TG <A1 e SICEH= S|

(d) Write a note on income inequality.
S (A THHC GO Biel +Cl|

() Do you think that a critical minimum effort in the form of huge dose of
investment is inevitable to free the economy from this trap?

of & W F@ @ wdifere @2 T @A I Fa7 & [egs s [fvcier e
@ fs IS errea e weikR o

(f) “Disguised unemployment can be used as saving potential” — Explain this
statement.

o &

“IRETIR TSI RAE &by @HITg JIZS 20O AN — Sfesio G T |

3. Answer any two questions from the following: 10x2 =20
fasfeie - 7 evs Teq wies

(a) Do you agree with the argument that in order to initiate economic growth in a
less developed country a “big push” is necessary? Give reasons for your answer.

SR (M0 SATeS Jfad G e A eeh [ eriean ¢ (o TerE
FACE Flae wefia )

(b) Discuss different measures of inequality.

R ffeq ifaiet R Sicesat St

(c) What do you mean by Multilateral Agreement? What are the economic and
political issues behind this agreement?

oIS 5 I910e fF @IRN ¢ @2 pies P widtafes @ Artafos Srmef & & 9

(d) Write a short note on investment criteria.

RS e s Toig @t Bt @Teal

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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